[ Efficiency vs vertpos |

0.5

0.45
0.4
0.35]
0.3
0.25
0.2
0.15
0.1
0.05

AN AR

............................................

................................................

|; |||||||||||||||||||!||g|||||| T

—=— DQM_DisplacedsUsSY__CKF_
—e— DQM_DisplacedSUSY__mkFit

[Efficiend —— DQM DisplacedSUSY _CKE BDT

—— DQM_DisplacedSUSY__mkFit_BDT.

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05

1.1F

1

LG:' 11

0.5

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05]

0.952

0-15 -10 5 0 5 10 15 20

=2



	Contents
	Page 1


